> A
A & 0l & AF 2 E A A
20148 &= =0lah LB &
A ZEEZAZED
g A sA38 x4
ool SAE SXMEHI X4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZETANZLE 6,800,067 5,973,008 827,059
= 81,998
& 1,190,000
J| 300,000
< 230,002
Al 4,998,067
SN =X88 24 5,659,523 4,836,588 822,935
= 36,602
& 1,118,000
J| 300,000
< 210,700
Al 3,994,221
ANz SXMEO =248 3,377,720 2,540,000 837,720
= 29,600
& 1,018,000
J| 300,000
S 108,600
Al 1,921,520
SANE ZEMG(EFEZA ZEAMY) 800,000 1,000,000 A200,000
& 400,000
Al 400,000
401 Al HIZ 201 I 800,000 1,000,000 200,000
= 400,000
Al 400,000
01 A& HI 796,000 994,000 A 198,000
OZAN= ZEMS(FEZANEZLAY) 796,000
= 398,000
Al 398,000
03 Al2 S THHI 4,000 6,000 A 2,000
OZAE ZEMNS(FEZAEZLAY) 4,000
& 2,000
Al 2,000
SE5ZE 212 22,000 20,000 2,000
203 ¥ S =&l 2,000 2,000 0
03 AIHF=XH R =AH| 2,000 2,000 0
OFETANZHER =& 2,000
401 A& HIZ 201 I 20,000 18,000 2,000
01 A& HI 20,000 18,000 2,000
o2 sX2e 20,000
FETAN FHRAASE 29 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 I AEXS 60,000 60,000 0
OFEETAl XA 2Y 60,000
stz 24 59,200 60,000 A 800
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2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 29,600
= 8,600
Al 21,000
401 Al B2 2B 59,200 60,000 A 800
= 29,600
< 8,600
Al 21,000
01 A& HI 59,200 60,000 A 800
Ostus =4 59,200
= 29,600
< 8,600
Al 21,000
SRS &Y 0290 =4 500,000 800,000 A300,000
401 AIEHIZ 28I 500,000 800,000 A 300,000
01 A& Hl 500,000 794,560 A 294,560
odx Iy &Y Jgdoxd 500,000
AE0E 233 Z&8AMY 100,000 40,000 60,000
401 Al I 28I 100,000 40,000 60,000
01 A& HI 100,000 40,000 60,000
OL3¥ X4 100,000
gde=Mlissxd 300,000 0 300,000
| 300,000
201 L2l 3,000 0 3,000
| 3,000
01 At 22l 3,000 0 3,000
ogB2d| 3,000
| 3,000
401 AIEBIZL 28I 297,000 0 297,000
| 297,000
01 A& Bl 295,000 0 295,000
ogd sdlss =4 295,000
| 295,000
03 AIE 2 0H bl 2,000 0 2,000
O8d sdUss =4 2,000
J| 2,000
SES HOls Z8AMY 1,436,520 0 1,436,520
& 618,000
Al 818,520
201 Let24d] 900 0 900
= 400
Al 500
01 At 2teltl 900 0 900
ogB2d| 900
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2N

iz
b3
3y =
c
=

A =Tz £4
@9 TAE sXNME0 =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
& 400
Al 500
401 A& HIZ 201 I 1,435,620 0 1,435,620
& 617,600
Al 818,020
01 A& HI 1,428,120 0 1,428,120
OE&Z& Hil= &MY 1,428,120
= 614,100
Al 814,020
03 Al 2 THHI 7,500 0 7,500
OHZZ& HOls Z&AY 7,500
2 3,500
Al 4,000
SEEY sSMIZAxH 100,000 0 100,000
< 100,000
201 £B-2E| 200 0 200
< 200
01 At 22l 200 0 200
O L2l 200
< 200
401 AIEHI L 201 99,800 0 99,800
= 99,800
01 Al& 99,300 0 99,300
OSTEE =MBAXY 99,300
< 99,300
03 Al& S THHI 500 0 500
OSTEd =MBALH 500
< 500
22 E z2el 547,800 388,600 159,200
2Ry 24 98,000 73,600 24,400
201 L2l 91,000 71,600 19,400
01 At 22l 65,000 46,800 18,200
OgBt+=&H| 27,950
O=%1X e 3,000
o023+ 24,050
[ B 5,800
@ =z 18,250
ogxz 10,000
02 =224l 26,000 24,800 1,200
03323 ¥ HAM(&EI, 4ot+=E8) 12,000
O A& ZEHlI S X bl 14,000
405 XtAHE SHI 7,000 2,000 5,000
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A ZEEZAZED
HE: CA =KZY x4
el 2RE el CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et EFFHSHI 7,000 2,000 5,000
OLRHFEESHH R (E2D1) 7,000
2R ZYM Y AEE EX 419,800 290,000 129,800
201 Let24d]| 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
OBMAE HAT A 3,000
206 M= Hl 166,800 137,000 29,800
01 =4l 166,800 137,000 29,800
OMZHl 166,800
OctAEs 2 ALQTM 16,800
O=37 & ZR2IT 75,000
@ZMAUZ EHl(StRA21S, = XS H) 30,000
OLE, 45 & 7¢ 25,000
QOLE(AZE) 20,000
401 AlEHI R 2 0hYI 250,000 150,000 100,000
01 A& Bl 250,000 150,000 100,000
OdlRA ANESAH & 223 KA 22 150,000
OZYZSe &AM (HOIY, AEHYE) 100,000
SHIMII Zoty 2 30,000 25,000 5,000
201 et 25,000 20,000 5,000
02 22224l 25,000 20,000 5,000
O=Mu2l Hotd 2¢ 25,000
@ =4l 20,000
O Al £ EHI R XY 5,000
206 24 5,000 5,000 0
01 =8l 5,000 5,000 0
OSMIMI 252 (2E S) 5,000
SY=sNx82L 584,003 377,988 206,015
= 7,002
< 102,100
Al 474,901
=oALl OIE 3tE X4 200,000 200,000 0
401 AIEHI L 20 200,000 200,000 0
01 A& HI 200,000 200,000 0
O=3t&#HAINHl OIME 3HE =4 200,000
Bl =4 170,000 164,000 6,000
206 M= Hl 90,000 84,000 6,000
01 M= 4l 90,000 84,000 6,000
Oug=s 28 2¢ 90,000

160 -




A ZEEZAZED
g A sA38 x4
& TasIEdae (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 80,000 80,000 0
01 A& HI 80,000 80,000 0
OZHel ZEM(FSZ WML ARAEX 80,000
stwz= IACIUIOIH 2el 14,003 13,988 15
= 7,002
< 2,100
Al 4,901
101 @124l 12,003 11,988 15
= 6,002
< 1,800
Al 4,201
04 D12t Z22EE = 12,003 11,988 15
O W= ICIUIOIE &2l 12,003
= 6,002
= 1,800
Al 4,201
201 ¢4l 2,000 2,000 0
= 1,000
< 300
Al 700
01 At 2t 2l 2,000 2,000 0
Ostu= [CIUIOIE &2 2,000
= 1,000
< 300
Al 700
Sa=35 ALY 200,000 0 200,000
< 100,000
Al 100,000
401 AIEHI L 20 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
O=24=35tAY 200,000
S 100,000
Al 100,000
SANBEXE 500,000 980,000 A 480,000
& 100,000
Al 400,000
Helol83& =0IHAIE FH| 300,000 250,000 50,000
401 AIEHI L 2CHEI 300,000 250,000 50,000
01 A& tl 300,000 250,000 50,000
ONEolI=& =0IHAIE FHl 300,000
Dofs MEfSH BEZ ZLAY 200,000 0 200,000
& 100,000
Al 100,000




A ZEEZAZED
g A sA38 x4
Sl CABHEEY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 200,000 0 200,000
& 100,000
Al 100,000
01 A& HI 199,000 0 199,000
Qota MEHSR 22 ZHAY 199,000
= 99,500
Al 99,500
03 A2 2 THHI 1,000 0 1,000
O otih MEZSR S22 ZAAY 1,000
& 500
Al 500
S2 A= 2el 650,000 550,000 100,000
HEGID Ot TASE el 500,000 400,000 100,000
401 Al HIZ 201 I 500,000 400,000 100,000
01 A& HI 497,000 397,120 99,880
O3IHGtD =S THSH 2el 497,000
03 A& =TI 3,000 2,880 120
O=otn HOte EAZA &2 3,000
g2y 38 &4 150,000 150,000 0
401 AIEHI L 20HEI 150,000 150,000 0
01 A& tl 150,000 150,000 0
OZAZB&d ZHEI|I7 &4 & FH| 150,000
SMER A 575,408 664,414 A 89,006
= 45,396
& 72,000
< 19,302
Al 438,710
MEIE BEss4d 575,408 664,414 A 89,006
= 45,396
& 72,000
< 19,302
Al 438,710
2L =8 23,334 23,334 0
= 11,667
< 3,500
Al 8,167
401 A& HIZ 201 I 23,334 23,334 0
= 11,667
< 3,500
Al 8,167
01 A& HI 23,334 23,334 0
ozZus =¥ 23,334
= 11,667
< 3,500
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A ZEEZAZED
M MUY TH
ool MY BESA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 8,167
A2 AL 2Y 23,000 23,000 0
206 M= Hl 20,000 20,000 0
01 M= 4l 20,000 20,000 0
oAsY A 2 2 UM 2 20,000
401 AIEHI L 20 3,000 3,000 0
01 A& HI 3,000 3,000 0
OAMM+== =XA2el 3,000
s & EHs =8 EY| 30,000 30,000 0
401 AIEHIZL 2] 30,000 30,000 0
01 A& Hl 30,000 30,000 0
O+ & L=+ =8 HUIAY 30,000
254 el 8,000 8,000 0
< 3,840
Al 4,160
401 A& HIZ 201 I 8,000 8,000 0
< 3,840
Al 4,160
01 A& HI 8,000 8,000 0
O3+ ztel 8,000
< 3,840
Al 4,160
MEYI 29 34,800 45,800 211,000
201 et 34,000 34,000 0
01 At 221l 30,000 30,000 0
OM=UE X ZEZAXE 2 30,000
02 =224l 4,000 4,000 0
OREI|, tMHEES Y FA &2 4,000
301 et a = 800 800 0
MIIEEd= 800 800 0
O&EIto A M2 &= 800
SEEX 13,684 17,080 A 3,396
= 1,873
< 1,923
Al 9,888
101 @124l 9,000 9,000 0
< 1,080
Al 7,920
04 JI12ZtHZ22HEE =+ 9,000 9,000 0
(OFE=—=3=1PN 9,000
< 1,080
Al 7,920
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2N RESANZLD
M MUY TH
ool MY BESA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 4,084 3,000 1,084
= 1,633
< 735
Al 1,716
01 At 22l 4,084 3,000 1,084
OUESAA 2825 ¢ 2,800
= 1,120
= 504
Al 1,176
O& 23 = Al 1,284
= 513
< 231
Al 540
202 oddl 600 480 120
= 240
= 108
Al 252
01 = LH o4 1 600 480 120
O&=ds ES0HI 600
= 240
< 108
Al 252
AEEA (IR E X)) 72,576 134,716 A62,140
403 XIS E X201 & 72,576 134,716 262,140
02 BII 2SOl CHEHCH S AFR I 72,576 134,716 A62,140
O At ALY 72,576
QOH=REHN 34,380
OAEH 22,500
@ LHAER ol & 14,580
octtgd Eot 706
OANEX HH 57
OANEH EtEH HOt 353
O =2 Iloh ol 8,316 20,000 A 11,684
= 4,158
< 1,247
Al 2,911
402 RI2HXt20l 8,316 20,000 A 11,684
= 4,158
< 1,247
Al 2,911
01 RIZERI 22X 8,316 20,000 A 11,684
OOt =2 Tl ol 8,316
= 4,158
< 1,247
Al 2,911
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el
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= N W

,580

3,290
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N
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H
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= MW

,580

3,290

Hl>
o
x
S

= W

27,

976

A13,973

Z W

25,

976

A12,974

04 JIZtNZ22XNSE+
O= &It

=z N H

25,

976

A12,974

= N H

,000

A 999

01 AtR 22l ]

O= &It

= N W

600
120
281

,000

A 999
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H

14,003
7,001

,988
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A ZEEZAZED
M MUY TH
ool MEXR 25RH CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 2,101
Al 4,901
307 glz2+ol & 14,003 13,988 15
= 7,001
< 2,101
Al 4,901
02 2B AEXS 14,003 13,988 15
O+=Sd 2CIUI0IH 14,003
= 7,001
< 2,101
Al 4,901
HEH SHE FH| 194,000 160,000 34,000
= 72,000
Al 122,000
401 AIEHI L 201 194,000 160,000 34,000
& 72,000
Al 122,000
01 A& Hl 194,000 159,000 35,000
OMEH SL2 FHl 194,000
& 72,000
Al 122,000
MEEXSIE )| dUNRES 80,566 80,566 0
308 XX EHSOIA 80,566 80,566 0
05 HXHMARFE = 80,566 80,566 0
OK=d3sE d)| dXFES 80,566
SH2 A2l ALY 20,000 20,000 0
401 Al HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
Os&Z KX 2l ALY 20,000
Mg YIS It A48 6,095 3,743 2,352
= 3,047
< 914
Al 2,134
401 AIEHI L 2] 6,095 3,743 2,352
= 3,047
< 914
Al 2,134
01 A& tl 6,095 3,743 2,352
Otz Holls 22t AL E 6,095
= 3,047
< 914
Al 2,134
CAES OLMOIGR JIsZzeHd 249 2,400 2,400 0
201 LBH2E| 2,400 2,400 0
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2N RESANZLD
M MXE TH
ool MY BESA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 2,400 2,400 0
OJlsxacl X (EE2,1=2HS) 2,400
Xl JFRD| 10,836 8,127 2,709
= 5,418
o= 1,635
Al 3,783
401 Al HI L 2 0HHI 10,836 8,127 2,709
= 5,418
= 1,635
Al 3,783
01 A& HI 10,836 8,127 2,709
OxX& X IR 10,836
= 5,418
& 1,635
Al 3,783
MNEBEZA AFoE Y HI} 5,425 5,079 346
308 XX EHSOlIA 5,425 5,079 346
05 ANXSHH2EESZ2 5,425 5,079 346
ONEEZAAGHA D= L HI} 5,425
STHMAD| B S 1,000 0 1,000
= 1,000
202 044 1,000 0 1,000
= 1,000
01 2L I 1,000 0 1,000
OSME & 22| oyl 1,000
= 1,000
HHSHAY|(ZEE AL 64,710 64,710 0
JI2HY(ZFEZAIZAE) 64,710 64,710 0
JI2ZH (FEZTAIZLED) 64,710 64,710 0
201 et 31,710 31,710 0
01 AP 22| d| 28,710 28,710 0
OgBtL2H| 15,200
OF=1=1s] 11,760
ORIA4 U (2KAKS, OINMSE2ES) 1,750
02 Z32%H| 3,000 3,000 0
02222 ¥ HMA 3,000
202 04| 28,800 28,800 0
01 2Ll 28,800 28,800 0
OJleg=8u| 28,800
203 €2 F=&d| 4,200 4,200 0
04 EANSIELR2F=XH| 4,200 4,200 0]
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